
 

DELTA ELEKTRONIKA B.V.                      Vissersdijk 4, 4301 ND                 www.DeltaPowerSupplies.com 
          DC POWER SUPPLIES                                            Zierikzee, the Netherlands           Tel. +31 111 413656 

 
 
 
 
SM15K – Master/Slave Assembly Kits 
 M/S PAR SET A2...A6 
 

 

 
 

 

 

 

 

 

 

 

APPLICATION NOTE 

Revision 2022/03 

Contents: 

1 – M/S PAR SET A2 (using 2 cables) 

2 – M/S PAR SET A2 (using 4 cables) 

3 – M/S PAR SET A3 

4 – M/S PAR SET A4 

5 – M/S PAR SET A5 

6 – M/S PAR SET A6 

 

M/S PAR Kits SM70-CP-450 

This document is an addition to the SM15K interface manual.  
It contains instructions for the connection for Master/Slave set-ups 
using the M/S PAR assembly kits. 









PARTS LIST

DESCRIPTIONSTOCK NUMBERQTYITEM

M/S PAR

SET A2

power unitSM70-CP-450  21 *

interface ms gen 2int mod ms 222 *

m/s strip1 2 units lvdwg253923

 v

cover outp ms lvdwg254324

 v

cover end plate m/s lvdwg254425

 v

cover outp m/s bracket lvdwg254526

 v

screw M12X35 SG DIN933 10.9/Geomet-500M12x35 SG DIN93347 

nut M12 A2 M12 A2 DIN93448 

washer M12 A2M12 A2 DIN12549 

lock washer M12 A2 DIN 127B410 

crinkle washerM12x24 DIN 137B411

 v

load cable cable lug M12not supplied412 

D-PT 3.5x12 ro he A2 T15 selftap3.5x12 ro he T15613

 v

patch cable BK 0.5m RJ45CBL P SFTP 0.5 BK214

 v

earth cable m/sDWG2603115

 v








Tol.: 0.2mm

Delta Elektronika B.V.














  
MASTER SLAVE 

      assembly 2 units


 

A3

04-02-2022

S.Janse

DWG

2

14



13

7

11

12

9

10

8

6

13

1

54

3

Master






15


